
	[image: http://ngsir.netfirms.com/applets/RC_dc/constantI1.png]

	[image: http://ngsir.netfirms.com/applets/RC_dc/constantI2.png]



image1.png
Charge a capacitor with a constant current

1. Set the capacitance and the resistance at their maximum values.
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2. Soon after “Start” is pressed, use the scrollbar to reduce the resistance
continuously to keep the current as constant as possible.
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3. The pd. across C will then be a straight line.
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Capacitance = The constant current used to charge the capacitor/ Slope of
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